SI From sequence to series:  

$$\frac{9 \text{ Lymitim: IF } 3 \text{ Ast }_{n} = \{a_{1}, a_{2}, a_{3}, \dots\} \text{ is a sequence, the series with general term  $a_{n}$  is the sequence  $\sum_{n=1}^{\infty} a_{n} = a_{1} + a_{2} + a_{3} + \cdots$ 

$$\frac{1}{1 + a_{n}} = \frac{1}{1 + a_{n}} = \frac{1}{1 + a_{n}} + \frac{1}{1 + a_{n}} + \cdots = \text{genetice series with general term  $a_{n} = \frac{1}{1 + a_{n}}}$ 

$$g(\text{How to interprit } \sum_{n=1}^{\infty} a_{n}?$$
A longide the sequence of partial series
$$S_{1} = a_{1}$$

$$S_{2} = a_{1} + a_{2}$$

$$S_{n} = a_{1} + a_{2} + \cdots + a_{n} = \sum_{j=1}^{n} a_{j}$$

$$S_{n} = a_{1} + a_{2} + \cdots + a_{n} = \sum_{j=1}^{n} a_{j}$$

$$S_{n} = (1 - x) (1 + x + \cdots + x^{n-1}) \text{ for } x = \frac{1}{1 + a_{0}} \text{ for } S_{n} = \frac{1 - (x_{0})^{n}}{1 - (x_{0})^{n}} = \frac{10}{9} (1 - \frac{1}{10^{n}})$$

$$model the partial sums to define the series as then time t.$$

$$\frac{9 \text{ J}}{1 + x_{0}} = \sum_{n=\infty}^{\infty} a_{n} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n \to \infty} S_{n}.$$

$$\frac{1}{1 + a_{0}} = \lim_{n \to \infty} \sum_{j=1}^{n} a_{j} = \lim_{n$$$$$$

Note: This definition is very nimital to see approved to implete integrals.   

$$\int_{1}^{\infty} F(x) \, dx = \lim_{k \to \infty} \int_{1}^{\infty} F(x) \, dx \qquad \text{mass} \quad \sum_{j=1}^{\infty} a_j = \lim_{k \to \infty} \sum_{j=1}^{n} a_j.$$
We will use the convertion to Riemann Sume to emplote various sums of using a show divergence (e.g. howmic series  $\sum_{n=1}^{\infty} \frac{1}{n}$  diverges because  $\int_{1}^{\infty} \frac{1}{\sqrt{x}} \, dx \, dx$ )  
 $\frac{82}{x} \, G \text{ comptrie Series:}$ 
  
Recall :  $(1-x) \, (1+x+\dots+x^m) = 1-x^{m+1} \, \exp_{1-x} (1+x+\dots+x^m) = \frac{1-x^{m+1}}{1-x} \, dx$   
 $\lim_{n\to\infty} \frac{1+x^{m+1}}{1-x} = \frac{1}{1-x} \, (1-\lim_{n\to\infty} x^{m+1})$  and gives a number when  $|x|<1$   
 $\int_{n\to\infty}^{\infty} \frac{1+x^{m+1}}{1-x} = \frac{1}{1-x} \, (1-\lim_{n\to\infty} x^{m+1})$  and gives a number when  $|x|<1$   
 $\int_{n\to\infty}^{\infty} \frac{1+x^{m+1}}{1-x} = \frac{1}{1-x} \, (1-\lim_{n\to\infty} x^{m+1})$  and gives a number when  $|x|<1$   
 $\int_{n\to\infty}^{\infty} \frac{1+x^{m+1}}{1-x} = \frac{1}{1-x} \, (1-\lim_{n\to\infty} x^{m+1})$  and gives a number when  $|x|<1$   
 $\int_{n\to\infty}^{\infty} \frac{1+x^{m+1}}{1-x} = \frac{1}{1-x} \, (1+\lim_{n\to\infty} x^{m+1})$   
 $\int_{n\to\infty}^{\infty} \frac{1}{1-x} \, (1+x+x^{m}) = \frac$ 

Same alternative approach works in general.  

$$\sum_{n=0}^{\infty} x^n = (1 + x + x^{k+1} + x^{k+1}) + (x^k + x^{k+1} + \cdots) \qquad \text{fo} |x| <_1$$

$$So \sum_{n=k}^{\infty} x^n = \sum_{n=0}^{\infty} x^n - (1 + x + \cdots + x^{k-1}) = \frac{1}{1 - x} - \frac{1 - x^k}{1 - x} = \frac{x^k}{1 - x}$$

$$\frac{1}{|x| <_1}$$

$$\frac{1}{|x| <_1} = \frac{1 - x^k}{1 - x} = \frac{x^k}{1 - x}$$

$$\frac{1}{|x| <_1}$$

$$\frac{1}{|x| <_1} = \frac{1 - x^k}{1 - x} = \frac{x^k}{1 - x}$$

$$\frac{1}{|x| <_1}$$

$$\frac{1}{|x| <_1} = \frac{1 - x^k}{1 - x} = \frac{x^k}{1 - x}$$

$$\frac{1}{|x| <_1}$$

$$\frac{1}{|x| <_1} = \frac{1 - x^k}{1 - x} = \frac{x^k}{1 - x}$$

$$\frac{1}{|x| <_1} = \frac{1}{1 - x}$$

$$\frac{1}{|x|} = \frac{1}{|x|}$$

$$\frac{1}{|x|} = \frac{1}{|x|} = \frac{1}{|x|}$$

$$\frac{1}{|x|} = \frac{1}{|x|}$$

$$\frac{1}$$

So 
$$Z = \sum_{k=1}^{\infty} \frac{a_{k}}{10^{k}} = \frac{\sum_{k=1}^{n} \frac{a_{k}}{10^{k}}}{10^{k}} + \frac{b_{1}}{10^{n+1}} + \dots + \frac{b_{s}}{10^{n+s}} + \frac{b_{1}}{10^{n+s+1}} + \dots + \frac{b_{s}}{10^{n+s}} + \dots + \frac{b_{s}}{10^{n+s$$

$$= a + y + \frac{y}{10^{5}} + \frac{y}{10^{2}s} + \frac{1}{10^{2}s} + \frac{1}{10^{2}s} + \frac{1}{10^{2}s} = a + y \cdot \frac{1}{1 - \frac{1}{10^{5}s}}$$
  

$$= a + y (1 + \frac{1}{10^{5}} + \frac{1}{10^{2}s} + \frac{1}{10^{2}s} + \frac{1}{10^{2}s}) = a + y \cdot \frac{1}{1 - \frac{1}{10^{5}s}}$$
  
Semultic series  $\frac{1}{10^{5}} \times \frac{1}{10^{5}s}$ 

Now, if z has a repeated pattern but z < 0 7 z > 1, we can add an integer N to it (L2J) so that z+N has a repeated pattern (some as z) and now  $0 \le z+N \le 1$ . If z+N is in Q, so is z.

of x by doing long divisin, adding 0's to the unainder. Since the unainders are 0,1,2,...,p-1, This process cannot go preser without refetitions. The pattern will then consist of all ratios that produced the string of unainders where the repetition first took place. (insequence: It, 52 or not rational, so they decimal expansions have no repetitions.